
AMBIENT
TEMP.

"D" DIM.
INCHES

110°F 1/16
90°F 3/8
70°F 3/4
50°F 1-1/8
30°F 1-1/2

No. Unit Qty Unit Description Box Qty
# Boxes 
Needed

Item No.

1 AS REQ'D  - CABLE TRAY, SEE PLANS FOR TYPE (BY OTHERS)  -  -  - 
2 1  - EXPANSION CONNECTOR, (PAIR) (BY OTHERS)  -  -  - 
3 1  - BONDING JUMPER, 800 AMP (BY OTHERS)  -  -  - 
4 4  - 3/8"-16 x 3/4" CADMIUM PLATED MACHINE BOLT W/NUT (BY OTHERS)  -  -  - 
5 4  - 3/8" CADMIUM PLATED LOCKWASHER (BY OTHERS)  -  -  - 
6 4  - CABLE TRAY CLIP ASSEMBLY (BY OTHERS)  -  -  - 
7 AS REQ'D EA STRUT HS-158-12/HDG 10' 1 AS REQ'D 407570
8 AS REQ'D EA X-BTW10-24-6 SN12-R 100 AS REQ'D 377076
9 AS REQ'D EA HEX NUT STANDARD 3/8" SS316 100 AS REQ'D 411775

10 AS REQ'D EA WASHER 3/8" SS316 200 AS REQ'D 411780
11 AS REQ'D EA HELICAL SPRING LOCK WASHER 3/8" SS316  - AS REQ'D  - 


